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new int[100]new int[100]
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intint[] [] myArraymyArray = new int[100];= new int[100];
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myArray:
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intint[] [] myArraymyArray = new int[100];      = new int[100];      

myArray[0] = 2;myArray[0] = 2;

myArray[4] = myArray[0] + 1;myArray[4] = myArray[0] + 1;

System.out.println(myArray[4]);System.out.println(myArray[4]);

// prints 3// prints 3

myArray[99] = 2;   // okmyArray[99] = 2;   // ok

myArray[100] = 2;  // errormyArray[100] = 2;  // error
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for for ii from 0 to from 0 to lengthlength--1:1:
if if arrayarray[[ii] == ] == targettarget::

return return ii
return return --1  // not in array, 1  // not in array, --1 will indicate that.1 will indicate that.
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first = 0            // start of candidate arrayfirst = 0            // start of candidate array
last = lengthlast = length--1  // end of candidate array1  // end of candidate array
while first while first �� last:last:

mid = (first + last)/2mid = (first + last)/2
if        if        array[midarray[mid] = target:  return mid] = target:  return mid
else if else if array[midarray[mid] < target:  first = mid + 1] < target:  first = mid + 1
else if else if array[midarray[mid] > target:  last = mid ] > target:  last = mid –– 11

return return --1  // not in array1  // not in array
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�+ �' 3 '4 '1 +5 +* 51 14 16 3' 31 *6

( ' + 5 4 6 = 1 3 * '( '+''
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